65 SX 2013 <2013><EU><F6001M6>
IGNITION SYSTEM

Pos Part Number Description Additional Text Quantity
1 46239095000 WIRING HARNESS CDI 65 SX 2009 1.00
2 46239031000 CDI 65 SX 2009 1.00
3 46139030000 RUBBER BR. DIGI.BOX 65SX 2003 1.00
4 59039006000 IGNITIONCOIL "IG5128" ONLY FOR SIX DAYS 1.00
5 0025060166 HH collar screw M6x16 TX30 2.00
6 46239090000 SPARK PLUG CONNECTOR 1.00
7 45239093000 SPARK PLUG 1.00
8 0770012030 O-RING 12,00X3,0 VITON 75 1.00
9 46239004000 STATOR 1.00
10 0025050166 HH collar screw M5x16 TX30 3.00
11 46239005000 ROTOR 1.00

11310



12 50230029012 LOCKING RING VSK 12 1.00
13 49030021000 COLLAR NUT M12X1 R/S 1.00
15 46230002100 IGNITION COVER 1.00
16 0025060206 HH collar screw M6x20 TX30 3.00




